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REGISTRATION NUMBER :

EXAM DATE : 30-August-2016

EXAM NAME : SSC Examination 2016
TOTAL MARKS : 200

Question 1.Select the related word/letters/number from the given alternatives.

33 T el & I Jafia s/ s1eRlRem # g

EARTH : PLANET :: MOON : ?

q?ﬁef (UG G ?
Options:
1) SUN

W

2) UNIVERSE
fay

3) VENUS

R

4) SATELLITE

SEPE

Correct Answer: SATELLITE
SEPE

Candidate Answer: SATELLITE
SEPE

Question 2.Select the related word/letters/number from the given alternatives.

A ™ faedt # ¥ Yo wrsa/steri/en & gl
EJOT : ::YDIN : VAFK

Options:

1) LQGB

2) BGLQ

3) QBGL

4) BGQL
Correct Answer: BGLQ
Candidate Answer: BGLQ

Question 3.Select the related word/letters/number from the given alternatives.

38 T fame! & 4 ol <Tea/S1&Ri/<Re $1 gHul
100 : 102 : : 100000 : ?

Options:

1) 10°

2) 10*

3) 1003

4) 100*
Correct Answer: 10°
Candidate Answer: 10°
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives

ol T et v weg/ S1ar/eN g AUl
Options:

1) Temple

R

2) Worship
IR

3) Mosque
e

4) Church
RS &R

Correct Answer: Worship

Candidate Answer: Worship

Question 5.

For the following questions
Find the odd word/letters/number pair from the given alternatives

e A fawmeat &  fawy Sregy 3reRy/ie 3w giul
Options:
1)MNOM

2)BDCB
3)XZYX

4)PRQP
Correct Answer: MNOM
Candidate Answer: MNOM

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives

e M fawedl & 9 fovm Segy &Ry g gRT)
Options:
1) 70, 80

2) 54, 62
3) 28, 32

4) 21,24
Correct Answer: 54, 62
Candidate Answer: 54, 62

Question 7.Arrange the following words as per order in the dicitonary

Fafifad el ! Teadix # U T w # fafE)

1) Pearl 2) Peasant 3) Pea 4) Peanut

Options:
1)3,1,4,2

2)3,4,1,2
3)1,3,2 4

41,234
Correct Answer: 3,4, 1,2
Candidate Answer: 3, 1, 4, 2
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Question 8.Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?

3HeRY BT PHH-TT THE WIeh R TR FHIR TG F € TS &R SRl B G B ?
gfe_igeii_feigf_ii

Options:

l)ifgie

2)figie

3)eifgi

4)ifige
Correct Answer:ifgie
Candidate Answer:ifgie

Question 9.Which one number when placed at the sign of interrogation shall complete the series

U T et & I HIH-T e U I g IR X Sl B G B -
3,6, 18, 72, ..2..., 2160

Options:

1) 144

2) 216
3) 288

4) 360
Correct Answer: 360
Candidate Answer: 360

Question 10.Introducing a lady, a lady said, "She is the only daughter of Mohan's grandfather who is my husband's father". How does the lady relate herself with the introduced
lady?

T Afge &1 uR=d <A §U gudt Afgan 3 g1, & a8 Afden Mig= & <, o IR ufd & a1 §, 31 g 3¢t 31 gust Afgar o1 uged @ | a2
Options:

1) Aunt

=T/ gel

2) Mother

Tl

3) Mother-in-law

IR-|1

4) Sister-in-law
Correct Answer: Sister-in-law

Candidate Answer: Sister-in-law

Question 11.Two years ago, Aadhya was three times as old as his son and two years hence, twice her age will be equal to five times that of her son. Find Aadhya's present age.

T I USS ST BT 3T 3T 9 B 31 BT 3 1 A, @R 2 9 91G IS 31 BT 2 0N ITP 9 1 MG F 5 T & TAM SHT| 3MEAT B I 311G I Pforg ?
Options:

1) 38 years

38 ay

2) 36 years

36 T

3) 34 years

34Ty

4) 42 years

42 99

Correct Answer: 38 years
38 ay

Candidate Answer: [ NOT ANSWERED ]

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
Fafifed fdwel & & 98 e 9T ol fAT 71U Meg & 18RI BT TINT 53 o1 ST oI e |

ADMINISTRATION

Options:

1) STRAIN

2) TRADITION

3) SITUATION

4) RATION
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Correct Answer: SITUATION
Candidate Answer: SITUATION

Question 13.If MOTHER is coded as KMRFCP, then HOUSE is coded as

Tf& MOTHER I KMRFCP foraT ST, Y HOUSE o1 T ferar s ?
Options:
1) FMRPC

2) GNSQD
3) GNRQD

4) FMSQC
Correct Answer: FMSQC
Candidate Answer: FMSQC

Question 14.If D stands for x, S stands for +, A stands for - and M stands for +, what is the value of the given expression

e D &I Aded 'x', S BT HAS '+, A Haad =", 3R M Haas '< ' g, al 719 feu e gefiesur o1 7 1d g 2
28D6534M2A8D6

Options:
1) 558

2) 3312
3) 137

4) 31
Correct Answer: 137
Candidate Answer: 137

Question 15.1f 3* 4 =10,5*8=18,7*7 =7
qfg3%4=10,5*%8=18, @, W7*7="2
Options:

1) 26

2)21

3)28

4) 49
Correct Answer: 21
Candidate Answer: 21

Question 16.In the following question, a series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

FufaRaa uy & ue srgwd far man 8, o v Wem g 31 U e Ridedt # ¥ T€ IR Blca 3HH & g Fifory|

1 2 3

11 7 5

120 45 ?

Options:
1) 19

2) 16
3)15

4) 17
Correct Answer: 16
Candidate Answer: 16

Question 17.Rahul starts and walks towards the south, he then turns to his right and walks 5 kms, then again turns left and walks 3 kms and then again turns left and walks 5
kms. In which direction is he from the starting point?

%rg’aaf&rmaﬁah?m%,ﬁﬂam%rarﬁah?asws%.lﬂ.aa?n%,ﬁﬁaﬁsh?asw3ﬁf.lﬂ.m%,amﬁﬁaﬁah?a@,msﬁammél IH3TH fog 4 98 fov famm &
?
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Options:
1) NORTH
3R

2) SOUTH
afgror

3) EAST

4) WEST
o3y

Correct Answer: SOUTH
afemr

Candidate Answer: SOUTH
e

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements:

a) Odisha is still an underdeveloped state.

b) Problems like poverty, unemployment and illiteracy have not been solved.

Conclusions:

I) The administration of Orissa is not sensitive enough.II) It is the Will of God.

FufaRad uy & ue a7 <) dader 23 T B, e 3imt <) fsps/Argany, 1 8k 11 Rerd T €1 3! fIaR 931 § & aador 9 © 918 a8 IMa: Td e & g udfid g 8
3Mgeh! 0T B B 6 U U gaaen § @ H-91 FAffd U I Tt s s/amar e S e g ?
DY :

1) NS o off e sifasiid I B

IT) T, SRR, SR FReRaT St v g T8 g% 81

1) 3SR YRR Bl Hdeeiiar yaie el 2|

II) 78 SR FI D13

Options:

1) Only I follows

Paa ey 1 981 B

2) Only II follows

Paa ey 11 w8 2

3) Both I and II follow

sy 1 3R 11 31 el B

4) Neither I and II follows

A ey 1 € g T E I T B

Correct Answer: Neither I and II follows

1l ey 1 T R R I TR

Candidate Answer: Only II follows

Faa ey 11 w1 2

Question 19.How many triangles are there in the following figure?

A g g form 9 foba Brpivr © 2

[#5,

Options:
1) 12

2) 16
3) 10

4) 20
Correct Answer: 20
Candidate Answer: 16

Question 20.Which illustrates the relationship amongst Judges, thieves and criminals?

Fraffed e & I H-a1 fo <gmeder, IR 3R roRiftat & s wet e &l gRfar g ?

http://thepracticetest.in/chall engesyste@é%b’b’@é@ﬂésiti M@i&t_ﬁ%%ﬂé&a%ﬁi&ﬂﬁ4ﬁﬁ&%%2@%%ﬁ&b@gébb@ rt.In 5/29
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Options:
1)

\ ]
AT

A

AT
I

N5

(

2)

;<

3)

|

4)

Vil

Candidate Answer:

s

—

Question 21.Which answer figure will complete the pattern in the question figure?

o & 3 FH-H STR-omHla vy-onel & ufiey & g s ?

7
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Options:
1)
SN
2)
S
NN
|
3) <
SIS
NON \\
4) =
NN
Correc_t-l.\;s;v;r B
Y
Candidate Answer:
Y

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded?

feu T I snpfodl # ¥ 39 safa @l gw o vy spfa Ak B

http://thepracticetest.in/chall engesystenD&WrﬁigaéjtiMﬁm _Bia@ﬁf:‘&£ﬁi @924T 804S24aravb Tober oz 1. I 1 7/29
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Options:
1)
| [T
I | [
|
. i
[ |
i S
2)
[ | |
| iy
- S _.' A R ‘\.. i. | SN
EEEN |
| | 11
3)
) XVZ
4) _

I I |
5 [
A i
1 |
I =R
Candidate Answer
[ | 1
T |
5 [
AT

Question 23.A piece of paper is folded and punched as shown below. From the given responses, indicate how will it appear when open?

i 5 BT 1 et AT 7T Uy & SFTER Hises SHH Ba b1 WIN A Wie & 918 I8 fba Sl o faams 3 2
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Options:
1)
2)
@
3) !
[ 5
I 1 1
4)
O
SERK ¢
Correct Ans:wer:
Fo NN
S EREY
Candidate I:\nswer:
F.o W
S MK ¢ 2 NEw

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T FHOT T MN T IR 9T STl &t TS SR St H T HH-3 i Uy S 31 T vfafaw ghft 2

[ |
M| | |

1 ——

EEEN
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Options:
1)
FILE
2)
ER ]
3)
1 111
4)
El|L|E
Correct Answer:
ERNE]
Candidate Answer:
i 31 i

http://thepracticetest.in/chall engesysterD&Wﬂgigaéjti Mﬂﬁtﬁa@mzﬁﬁ §924feus4arvb Tokersatobz 1T I 10/29
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Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are numbered from 5
to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., K can be represented by 00, 24, etc. and A can be represented by 55 etc. You
have to identify the set for the word 'SHIP'

FrafifEd vy & Reed! § Ry U Gem-ag, &Rt & < avif grR1 guiu e €, S b 12 fw u <) smoggl & B eodg 1 & Waws 1R Ufd 1 e 0 F 4 b < IS B, R Mg I
%579 TP, sq&nalaﬁws{mﬁﬁmm 3R S1E T T TRAT GRT ST ST Tehell § | STERU & o 'K Y 00, 24 31T GRT =TT ST Toball B, TUT'A' B 55 GRI
mww%lsﬁmﬁmmgw 'SHIP' ¥ folT g ) Uga |

~ MATRIX - | MATRIX - 11

0 1 2 3 4 5 <] 7 8 L ]
0 K G E A 5 5 A H u W | N
1 P v H R Y 6 Y R B T v
2 . M . v N R K 7 Q 1 H B Q
3 w 5 B o J 3 v o] E | 5
4 T U A 1 P 9 E T K W P

Options:

1) 31, 56, 43, 10
2) 89, 12, 40, 99
3) 04, 21, 76, 44

4) 89, 56, 34, 11
Correct Answer: 31, 56, 43, 10
Candidate Answer: 31, 56, 43, 10

Question 26.Silver gets corroded due to in air.

i, g & P IURURY & HRUT FeRa &1 St 21
Options:
1) Oxygen
KIcsicE

2) Hydrogen Sulphide

HWIgS
3) Carbon dioxide

P T3 SRS

4) Nitrogen

Correct Answer: Hydrogen Sulphide
HESICEESRHIES]

Candidate Answer: Hydrogen Sulphide
HESIER R e

Question 27.Which of the following is a radioactive element?

o & 3 sH-ar e aa g 2
Options:

1) Cobalt

EIEI

2) Uranium
3) Argon
ST

4) Chromium

Correct Answer: Uranium

Candidate Answer: Uranium

Question 28.Right to Constitutional Remedies comes under

Ty IURRI 7 ISR fFud ded 3mar g ?

http://thepracticetest.in/chall engesyste@é%b’b’@é@ﬂésiti M.@d&t_ﬁia@@lﬂagﬁiﬂﬂﬁﬁﬁmwzgi@&%bm%& rt.In 11/29
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Options:
1) Legal rights
SHRIBR

2) Fundamental rights
Tt feR

3) Human rights

HMHT

4) Natural rights
SHPR

Correct Answer: Fundamental rights

Candidate Answer: Human rights
G AR

Question 29.Which of the digestive organs contains acid?

g ¥ 3 o urH-3 H, sna glaT g ?
Options:

1) Stomach

SHR™

2) Small intestine

BIET affa

3) Appendix

4) Colon
Ple

Correct Answer: Stomach
SHR™

Candidate Answer: Stomach
SHRR

Question 30.Which country is separated from India by a narrow channel of sea formed by the Palk Strait and the Gulf of Mannar.

T TASHIHE qUT AR B WS gR1 FAfifa 3 Tl sraun & SR 30 ¥ HH-97 3% YR ¥ e a8 ?
Options:

1) Bangladesh

TR

2) Myanmar
AR
3) Sri Lanka
Sficiet

4) Pakistan
e
Correct Answer: Sri Lanka

Ca_ndidate Answer: Sri Lanka

Question 31.Which of the following fibres is considered as the strongest natural fibre?

Frafiied & 3 -1 Y Ged Aoige Uibiie Y81 & $Y H SIFT S g ?
Options:

1) Cotton

PU™

2) Jute

gy

3) Wool

S5l

4) Silk

=W

Correct Answer: Silk

Candidate Answer: Wool
3

Question 32.Purpose of an optical filter is to :

THINY Theck B ST TR ?

http:/thepracticetest.in/chall engesyste@é%b’b’@é@ﬂésiti M.@d&t_ﬁia@@lﬂagﬁiﬂﬂﬁﬁﬁmwzgi@&%bm%& rt.In
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Options:
1) reflect lights of different colours
Tt & HTRI Bl IRIGfTd Bl
2) dispense light into component colours
USRI B 9eHh TN & RERAT
3) refract light of different colours
Tt T & UebT=r BT Sruac HAT
4) transmit or absorb light of different colours
T & TR BT YARUT AT FHARH BT
Correct Answer: transmit or absorb light of different colours
ol &1 & YhT=1 BT TARUT AT THEARH BT

Candidate Answer: [ NOT ANSWERED ]

Question 33.Which of the following is not a weighted code?

frafifEd 3 A H-9 32s Fis (WRkd Fe) T8 2
Options:
1) Excess 3 - Code
TR 3-515
2) Binary Number System
fg-amer Te
3) Decimal Number System
St s yomedt
4) BCD Number System
o < St 5 et
Correct Answer: Excess 3 - Code
3-BIS
Candidate Answer: [ NOT ANSWERED ]

Question 34.'Residex’ is associated with :

TS o1 graw e § 2
Options:

1) Share prices

TR B DT A

2) Price inflation

3) Mutual fund prices

g3Id e & dHal o

4) Land prices

T B Bl

Correct Answer: Land prices

S 3 Bdl 9

Candidate Answer: [ NOT ANSWERED ]

Question 35.0zone saves the biosphere by absorbing high energy radiations called

ST ForT wifdRrReht fafehvult 1 BRe R Siiarsd o Q&N T Bl & S5 o1 Ped & 2
Options:

1) Infra-red (IR)

IT- X8

2) Gamma rays

T faot

3) Ultraviolet rays (UV)

SeT-are fpor ()

4) X-rays

T

Correct Answer: Ultraviolet rays (UV)
Jfegl-areie fabvul (g dt)

Candidate Answer: Ultraviolet rays (UV)

Sfegl-areie fbvor (g dh

Question 36.Birju Maharaj is a well known exponent of

3RS HER™ g e & quitig wfaues & 2
Options:
1) Manipuri dance

2) Kathak
Hh

3) Odissi
Jifed

4) Kathakali
HUBA

Correct Answer: Kathak
Eaerca

http://thepracti cetest.in/chalIengesyste@&bﬁdé‘é@ﬂésitiM@i&t_%apﬂ%agﬁi@ﬂﬁﬁWMWZQ@&%bém%lﬁ rt.In 13/29
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Candidate Answer: Kathak
DD

Question 37.In the absence of the earth's atmosphere, sky would appear

et & AIHUST Bl U T MTHTRT BT Uelid BT ?
Options:

1) blue

BNl

2) deep red
RRUIN]
3) white

4) black
DIl

Correct Answer: black
DIl

Candidate Answer: [ NOT ANSWERED ]

Question 38.The First Woman President of the Indian National Congress was

R ST B 1 Uyw Afgan sreaef d off 2
Options:
1) Sarojini Naidu

2) Vijayalakshmi Pandit
T qertt dfsa

3) Annie Besant
4) Kadambani Ganguli

Correct Answer: Annie Besant
SR
Candidate Answer: Annie Besant

i sde

Question 39.Which of the following programmes meet the credit needs of poor women?

fofifed & 3 SH-a1 sriga e el 3t JUR sagamdrst 3 gl sar g ?
Options:

1) Mahila Samriddhi Yojna

Hfee g drsHr

2) Rashtriya Mahila Kosh
DY

3) Indira Mahila Yojna
BIEEI]

4) Mahila Samakhya Programme
AR HRIHH

Correct Answer: Rashtriya Mahila Kosh
TP Afgen B
Candidate Answer: Mahila Samriddhi Yojna

Higen T Ao

Question 40.The Comptroller and Auditor-General of India submits his report relating to the accounts of the Union to the

YR % Fgw Tl AeTaan werds A -siar we Roi fae! ogd =a § 2
Options:

1) Finance Minister

faw o=t

2) Prime Minister

T A

3) President

4) Chief Justice of the Supreme Court
Fater e & T A

Correct Answer: President

Candidate Answer: Finance Minister

[EERE

Question 41.The first Buddhist Council was held at

TuH i RS Hel S gs 0t ?

http://thepracticetest.in/chall engesyste@é%b’b’@é@ﬂésiti M@i&t_ﬁ%%ﬂé&a%ﬁi&ﬂﬁ4ﬁﬁ&%%2@%%ﬁ&b@gébb@ rt.In 14/29
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Options:
1) Kashmir

2) Rajagriha
3) Pataliputra
4) Vaisali
UG

Correct Answer: Rajagriha

Candidate Answer: Vaisali

Question 42.Where do the Western and Eastern Ghats meet?

oyt @ gdf uret &1 e Sef e s ?
Options:

1) Nilgiri hills

iRt &1 ugite

2) Cardamom hills
FISHA P vgTSdl H

3) Palani hills

! &1 ggifsal #

4) Annamalai hills
Correct Answer: Nilgiri hills

Candidate Answer: [ NOT ANSWERED ]

Question 43.Who was the founder of the Satvahana Empire?

JAdTe AHTsT & TP B 3 ?
Options:
1) Kanha

el
2) Simuka

3) Hala

&S
4) Gautamiputra

Correct Answer: Simuka

Candidate Answer: Simuka

Question 44.Indian National Congress split for the first time in its session at

HIRTTT FT DI T TUH TS S5 Pl & 0 7 gof 2
Options:

1) Allahabad

ENUGEICS

2) Calcutta

Hefhdl

3) Surat

4

4) Lahore

E:

Correct Answer: Surat

4

Candidate Answer: Lahore

Question 45.Silica gel is a

fofee S a2

Options:

1) moisturizer
EERED

2) flavouring agent

dad

3) drying agent

@M arar uerd

4) delicious food

W@y HieH

http://thepracticetest.in/chall engesyste@é%b’b’@é@ﬂésiti M@i&t_ﬁ%%ﬂé&a%ﬁi&ﬂﬁ4ﬁﬁ&%%2@%%ﬁ&b@gébb@ rt.In 15/29
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Correct Answer: drying agent
&M ara
Candidate Answer: moisturizer

A USHISH

Question 46.Which Superfast train has AC Coach having Braille Signals?
9 gRBRe YaE! & TR S e A Sa ReHal B gl 2
Options:

1) Purushottam Express

2) Shramjeevi Express

SfFTSie

3) Himgiri Express

4) Purva Express

Correct Answer: Purushottam Express

Candidate Answer: Shramjeevi Express

Question 47.Biofertilizers convert nitrogen to

e IR AR H Fofiied # 3 s uRafia #d € 2
Options:
1) nitrgtgs

2) ammonia
3) nitrogenase
4) émino acids

S RS

Correct Answer: ammonia

Candidate Answer: amino acids

3 s |

Question 48.Shiva Thapa is associated with which of the following sports?

TRrar T T T T W P Ra AR ?
Options:

1) Boxing

St

2) Golf

Te®

3) Shooting

4) Badminton

Correct Answer: Boxing

Candidate Answer: [ NOT ANSWERED ]

Question 49.The natural habitat of Rhinoceros in India is

URT | 7S & Tpfad Ray Her g ?
Options:

1) Bharatpur

AR

2) Gir forest

iR

3) Khaziranga

Earisul

4) Nilgiris

BISIOIN

Correct Answer: Khaziranga

Candidate Answer: [ NOT ANSWERED ]

Question 50.Which country recently voted to leave the European Union (EU)?

BT € H fop 3= Y Rfta T F arer B 1 FAvfg fyn 2

http://thepracticetest.in/chall engesyste@é%b’b’@é@ﬂésiti M@i&t_ﬁ%%ﬂé&a%ﬁi&ﬂﬁ4ﬁﬁ&%%2@%%ﬁ&b@gébb@ rt.In 16/29
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Options:
1) Greece

2) Spain

A

3) United Kingdom
faTen

4) Germany

S

Correct Answer: United Kingdom

Candidate Answer: [ NOT ANSWERED ]

Question 51.36 men together can build a wall 140 m long in 21 days ; the number of men working at the same rate required to build the same wall in 14 days is

36 3MeH! fra@R 140 . Tl AR 21 37 & 971 I €, A 98 <R 14 71 7 3 hwa A 5 9 8 @ fran siefiral ot sraxgear g 2
Options:

1) 54

2) 48

3) 36

4) 18

Correct Answer: 54

Candidate Answer: 54

Question 52.The perimeters of a square and a rectangle are equal . If their area be 'A' m2 and 'B' m? then correct statement is

T 1 3R 31ad @1 IR RER 1 Al 3% Saa A W2 iR B M2 ATt A g 2
Options:

1)A<B

2)A<B

3)A>B

4)A =B

Correct Answer: A > B

Candidate Answer: A > B

Question 53.A man bought a watch for 10% discount.If he had bought for 20% discount he would have got the watch for X 125 less . The marked price of the watch is

Tt =fad = U U1 10% & ge W TRIE TG 98 I 20% B ge R Jiedl dl 39 ua! 2 125 HH H fHyad| 9l &1 sifdd g Faku ?
Options:

1) % 2500

2) % 1250

3) 23750

4) X 1000

Correct Answer: X 1250

Candidate Answer: X 1250

Question 54.The compound ratio of the inverse ratios of the ratios x : yz , y : zx, z : xyis :

X:yZ,y:zxX,z: Xy SJUT & HGehH! SIUTA! BT g U Jasd ?
Options:

1)1:xyz

2)xyz: 1

3)1:1

4)x:yz

Correct Answer: xyz : 1

Candidate Answer: 1: 1

Question 55.By selling a tape - recorder for X 1040 a man gains 4% . If he sells if for X 950 , his loss will be

TS CURBISR HI % 1040 F I IR T AT P 4% 1 o BT 31 I 98 T8 T 950 H 9 df 9 fobarwt wiferra &1f3 gl 2
Options:

1) 5%

2) 4%

3) 4.5%

4) 9%

Correct Answer: 5%

Candidate Answer: 5%

Question 56.What will be the percentage of increase in the area of a square when each of the its sides is increased by 10% ?

ofe et a7t &Y U Yo H 10% a1 a1 I df SuF & d # fban ufawd @t gfe gkt 2
Options:

1) 20

2)11

3) 121

4)21

http://thepracti cetest.in/chalIengesyste@&bﬁdé‘é@ﬂésitiM@i&t_%apﬂ%agﬁi@ﬂﬁﬁWMWZQ@&%bém%lﬁ rt.In 17/29



9121/2016 Download More PapeSafSsisationCommisionovtJobsAlert.In

Correct Answer: 21
Candidate Answer: 21

Question 57.Every Sunday , Gin jogs3 miles . For the rest of the week , each day he jogs1 mile more than the previous day . How many miles Gin jogs in 2 weeks ?

T AIIR B! R’ 3 Hiet ST Har 81 Twre & AW 2 A 98 ude 37 forwd 29 ) emen 1 Hia sifdes ST a1 31 93T 2 e § R e et ot Sty drar @ 2
Options:
1) 42

2) 63
3)84

4) 98
Correct Answer: 84
Candidate Answer: 84

Question 58.If p3 - = (p-q) {(p +q)?- x p q } then the value of x is

MpP-qd=(p-a){(p+q)2-xpq} B AXPIAARIE ?
Options:

1)1

2) -1

3)2

4) -2
Correct Answer: 1
Candidate Answer: 1

Question 59.

On simplification the valueof 1 — 2 2

e is
1+42 0 142

TAIFNOT Fed Gl —

1+ ’§+ 1—+2Z

2 L o1 e T BT 7
3

Options:
1)2v2-1

2)1-2V2
3)1-v2

4) -2v2
Correct Answer: 1 - 2v2
Candidate Answer: 1 - 2v?2

Question 60.A rectangle with one side of length 4 cm is inscribed in a circle of diameter 5 cm . Find area of the rectangle

T 3TId Tt U Yol 4 .41, Tl €, U 5 W), Say ara g § Sifdhd 71 Sd &7 A d T P ?
Options:

1) 21 cm?

21 442

2) 12 cm?

12 9.1.2

3) 4 cm?

49,12

4) 3 cm?

3.2

Correct Answer: 12 cm?

12 .42

Candidate Answer: 12 cm?

12 9.4t.2

Question 61.ABCD is a cyclic trapezium with AD || BC . If A = 105°, then other three angles are

ABCD T& I1g I ( cHifrad ) § /¥ AD || BC 31 3¢ £A = 105° 1 df 37 TiF &0 1 g e
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Options:
1) zB =75°, 2C = 75°, «D = 105°

2) «B =105°, 2C=75°, «D =75°
3) 2B =75°, .C =105°, «D = 75°

4) «B =105°, «C = 105°, 2D =75°
Correct Answer: 2B =75°, 2C =75°, «D = 105°
Candidate Answer: 2B = 105°, «C = 75°, «D = 75°

Question 62.If sec 1568 = cosec 1560 (0° < 6 < 10°) then value of 8 is

TfE sec 156 = cosec 156 (0° < § < 10°) B Y 6 T HF T 8?

Options:
1) 9°

2) 5°
3) 8°

4) 3°
Correct Answer: 3°
Candidate Answer: 3°

Question 63.

1

If x = (0.25) % y=(0.4)%, z=(0.216) 5, then

IfZ x = (0.25) 1 y=(0.4)?, z=(0.216) l grer

Options:
1HY>X>Z

2)x>y>z
3)Z>X>Y

4X>Z>Y
Correct Answer: Z> X >Y
Candidate Answer: Z > X > Y

Question 64.Average runs scored by 11 players of a cricket team is 23 runs . If the first player scored 113 runs . Find the average runs of the remaining players

11 GEX &1 U fbdbe E9 J 3MGd 23 39 §91WI IS Ugd RAArSt 3 113 3 §1¢ & oY oy Ryafedl & siad ¥ I1d Sifor ?
Options:

1) 8 runs

8

2) 12 runs

1234

3) 14 runs

1434

4) 27 runs

271

Correct Answer: 14 runs
1431

Candidate Answer: 14 runs
1431

Question 65.

IR = by e P B e bysthen the bl T Yo ®

a-= oy CZ,O0°=CZ ax,ce=arx Fy £71 € value ) T T 4
g 2 S a+x bty c+z

x i ¥ " z
at+x bty otz

e =by+cz bl =cztar.c® =ar+ by gar FTAWTE ?

Options:
1)1

2)a+b+c
3)

— =+
a b C
40

http://thepracticetest.in/chall engesyste@&b’&fﬂgéﬁbﬂésiti M.@H&t_ﬁi%ﬂé&a‘ﬁﬁi&ﬂ@ﬁﬂ&%%2@@&bﬁéﬁ@f@gébb@ rt.In 19/29



9121/2016 Download More PapeSafSsisationCommisionovtJobsAlert.In

Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 66.

If x*+y?=29 and xy=10, where x>0,y>0,x>y then the value of :t: is

fE x2+y?=29 3 xy=10, BT x>0,y>0,x>y & % I HIeT AT Ty ?
Options:
1)-7/3
2)7/3
3)3/7

4) -3/7
Correct Answer: 7/3
Candidate Answer: 7/3

Question 67.The ratio of circumradius and radius of an equilateral triangle is

ot areTg Pye & aRad ok Su@! B & w1 Siurd gem?
Options:
1)1:2

2) 3:1
3)2:1
4) 1:3

Correct Answer: 2:1
Candidate Answer: 1:3

Question 68.AB is a diameter of the circle with centre O, CD is chord of the circle , If zBOC = 120° , then the value of ADC is

AB {3t gt &1 oI § foresT 7% O &1 9 HY Sila1 CD § | A& 2BOC = 120° B Y LADC ST HH FT § ?

Options:
1) 42°

2) 30°
3) 60°
4) 350

Correct Answer: 30°
Candidate Answer: 60°

Question 69.A straight tree breaks due to storm and the broken part bends so that the top of the tree touches the ground making an angle of 30° with the ground . The distance
from the foot of the tree to the point , where the top touches the ground is 10 m. Find the total height of the tree?

T e U T 3 398 g ST § IR el HIT S9 TSR I 91l & & U8 &1 i 1T 4fy TR 30° &1 101 911 §U 4N 1 0= 52 oFTert 21 U8 & e § 99 g b ool gt
STRY < UFT 4ty Y el FRAT 7, 10 H. B1 US B HA ST [ Biowd ?

Options:

1) 10v3m

2)

10+/3

—3 m

3)10(V3+1)m

4)10(V3-1)m
Correct Answer: 10v3 m
Candidate Answer: 10V3 m

Question 70.The compound interest on a certain sum for 2 yearsat 10% per annum isRs. 525 . The simple interest on the same sum for double the time at half the rate percent
per annum is :

ot IR W 10 % aF H) @R F 2 IY HT THalG ST Rs. 525 1 S R R gIA T & forg afifer &= wfrmray snelt @9 wR WeRor sart fasam g 2
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Options:
1) Rs.520

2) Rs.550
3) Rs. 500

4) Rs. 515
Correct Answer: Rs. 500
Candidate Answer: Rs. 500

Question 71.If tan 6 = tan 30° . tan 60° and 6 is an acute angle , then 26 is equal to
2 tan © = tan 30° .tan 60° 3R 6 TH I P § 1 26 PTHH F1 T ?

Options:

1) 30°

2) 45°

3) 90°

4) 0°
Correct Answer: 90°
Candidate Answer: 90°

Question 72.Study the following Bar graph and answer the question . The Bar Graph gives the annual rates of inflation in percentages for 1975 and 1987.

e IR-I6 &1 Srerge B 3R U=l BT SR &1 IR-UT6 B af 1975 I 1987 T Ul & G-t B aiffe R ufma A S 7 |

40 7
36.2
35 T Year 1975
%{% Year 1987
B ok Year
[
30 T
25 T
207
1517
N 10.3
10 s
Y
o o |
WA ¢
't &)
0
World Developed nations Third world USA UK

From 1975 to 1987 , inflation rate increased in the third world countries approximately by

Y 1975 ¥ 1987 ST A1 giHam & <= A o THIA Bt 3 F 7L fba giS g8 2
Options:

1) 10%

2) 20%

3) 30%

4) 36%

Correct Answer: 36%

Candidate Answer: 20%
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Question 73.Study the following Bar graph and answer the question . The Bar Graph gives the annual rates of inflation in percentages for 1975 and 1987.

FEfad IR-16 BT ST B 3R UAT BT SaR &1 IR-UT6 B af 1975 I 1987 e Ul & -t ot aiffie R ufma A S 7 |

0 T

Year 1975

% Year 1987

35 T

30 T
26.6

21.7

20T

157 146

10.3

¥

Developed nations Third world UsA UK

The change in rate of inflation was least in which of the following .

TERWIf & gRad ot ey e 31 8 9 ot 2
Options:
1) Developgd‘Nations

2) UK

7, .

3) World

o &

4) Third world
et g o

Correct Answer: World

Candidate Answer: [ NOT ANSWERED ]
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Question 74.Study the following Bar graph and answer the question . The Bar Graph gives the annual rates of inflation in percentages for 1975 and 1987.

Ao IR-I6 &1 Sierge &Y IR T=AT T Sa &1 IR-UT6 B af 1975 I 1987 e Ufawd & - ifd &t aiffes R ufdma A 7 |

40 T
36.2
35 T Year 1975
%{% Year 1987
b ot Year
ARt
30 T
25 T
217
20T
157
v 10.3
107 rAL
7 ns
R
¥ R
0
Developed nations Third world USA UK

Comparing the figures for USA vis-a-vis the developed nations , it can be concluded that

AepRid Al 3 3Mide] B el G Y AR & 3! § B TR Tg Hwpy FMepra o Fevell & b
Options:

1) USA had better control on inflation

g oY 3MRT BT Gl WA IR AgaR Fg=aur o |

2) Developed nations had better control on inflation

IR S0 &1 GaT TWifd TR S5 Hawar o7

3) The inflation rate

continues to be the same for USA and developed nations
T T 3R SR AR 32 & 7o Whifd & T S § W@ R

4) No conclusions can be

drawn

H1g ol € e o gebar 7

Correct Answer: USA had better control on inflation
Tgard I SARHT BT &I Thifd TR g a0 o |
Candidate Answer: [ NOT ANSWERED ]
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Question 75.Study the following Bar graph and answer the question . The Bar Graph gives the annual rates of inflation in percentages for 1975 and 1987.

e IR-I16 &1 Srerge &Y IR U=AT T Sak &1 IR-UT6 B af 1975 I 1987 e Ufawd & Ga-wpifa &t aifffes R ufoma A 7 |

40 7T
36.2
ad I ;nﬁ;; Year 1975
e
o (TN %
é ! ﬁﬁ.‘g Year 1987
T bat g o AP
30 B
266 1o
paear
25 T
P Ll
20 1T
16 -
- o
151 aE o5
Fp 3
14.6 1:?3‘ _— f"‘;%‘
et ! i e
5;8 118 L, NS 10.3
*.4?' - [t 3
107 o e LT Wt o
el '.}-:{?.,.:F B H
V] % 4l |
e &zl e £
g g L w—ﬁ}r* R
T | B ¥ e £
L .:,i: Wz :&tﬁ‘: :-3;;
" Wi T % ! ] E ¥
" A58 g %) s -
v}
World Developed nations Third world USA UK

In the year 1987 , the inflation rate in the third world countries vis-a-vis the world jumped approximately by

9 1987 T fazg @t gam & R g & 3= B go whifa Y e § @ fasa s g8 2
Options:

1) 135%

2) 126%

3) 122%

4) 200%

Correct Answer: 126%

Candidate Answer: [ NOT ANSWERED ]

Question 76.1In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button corresponding to it.

RECTIFY
Options:

1) SATISFY
2) CORRECT
3) REDUCE
4) PACIFY

Correct Answer: CORRECT
Candidate Answer: SATISFY

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding to it.

VANQUISH
Options:

1) VANISH

2) VARNISH

3) SURRENDER
4) TRAMPLE

Correct Answer: SURRENDER
Candidate Answer: VANISH

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.

http://thepracticetest.in/chall engesyste@&WﬂQiQﬁéjti M@lﬁ@t_}%iap@r——%ar‘p‘ﬂi §924f0as2Aarvb Tokiersretobz 1. In 24/29



9121/2016 Download More PapeSafSsisationCommisionovtJobsAlert.In

Options:

1) Groteasque

2) Grotasque

3) Growtesque

4) Grotesque

Correct Answer: Grotesque

Candidate Answer: Grotesque

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If
the sentence is free from error, click the "No error" option.

Here is something pretty (A) / that you can (B) / wear on the party (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: [ NOT ANSWERED ]

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If
the sentence is free from error, click the "No error" option.

He was for all (A) / selling the car (B)/ and buying a bicycle (C) /No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If
the sentence is free from error, click the "No error" option.

Look at what (A) / I am doing (B) / and do like I do (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the
correct alternative and click the button corresponding to it.

See me tomorrow without

Options:

1) fails

2) failure

3) fail

4) failing

Correct Answer: fail

Candidate Answer: [ NOT ANSWERED ]

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the
correct alternative and click the button corresponding to it.

Radium rays that blind the eyes.
Options:

1) gives away

2) gives over

3) gives up

4) gives off

Correct Answer: gives off

Candidate Answer: gives away

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the
correct alternative and click the button corresponding to it.

You will have to work you are in the office.
Options:

1) as long as

2) as good as

3) as far as

4) so far as
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Correct Answer: as long as
Candidate Answer: as long as

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click
the button corresponding to it.

To add fuel to the fire

Options:

1) Prevent fire from dying out

2) Make the fire burn brightly

3) Make things worse

4) Waste fuel for no reason.

Correct Answer: Make things worse

Candidate Answer: Prevent fire from dying out

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click
the button corresponding to it.

To take to heart

Options:

1) To be greatly affected

2) To take something heartily

3) To strike at the heart, out of enjoyment
4) To suffer from heart disease

Correct Answer: To be greatly affected

Candidate Answer: To be greatly affected

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click
the button corresponding to it.

To bring to light

Options:

1) To put on light

2) To reveal

3) To bring a light

4) To arrange light sufficiently
Correct Answer: To reveal
Candidate Answer: To reveal

Question 88.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative
and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Lying in my room, the music could be heard
Options:

1) I could hear the music

2) The music can be heard

3) The music can be heard by me

4) No improvement

Correct Answer: I could hear the music
Candidate Answer: [ NOT ANSWERED ]

Question 89.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative
and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

Come quickly if you will catch the train
Options:

1) you want to

2) you shall

3) you could

4) No improvement

Correct Answer: you want to

Candidate Answer: you want to

Question 90.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative
and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

At the sound of foot steps he turned round fast really
Options:

1) real fast

2) real fastly

3) real faster

4) No improvement

Correct Answer: real fast

Candidate Answer: [ NOT ANSWERED ]
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Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative
and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Only a few people came to the art exhibition as it was raining hard all day.
Options:

1) few

2) little

3) a small amount of

4) No improvement

Correct Answer: No improvement

Candidate Answer: few

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative
and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

His immediate ambition was to find a place to live in.
Options:

1) Strategy

2) Design

3) Aim

4) No improvement

Correct Answer: Aim

Candidate Answer: [ NOT ANSWERED ]

Question 93.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A large body of people playing various musical instruments.
Options:

1) Melody

2) Harmony

3) Elocution

4) Orchestra

Correct Answer: Orchestra
Candidate Answer: Orchestra

Question 94.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Solemn religious acts
Options:

1) Demonstrations

2) Celebrations

3) Rites

4) Functions

Correct Answer: Rites

Candidate Answer: Rites

Question 95.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

That which cannot be averted
Options:

1) Inevitable

2) Irreparable

3) Incomparable

4) Indisputable

Correct Answer: Inevitable
Candidate Answer: Inevitable

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the
button corresponding to it.

The function of education is to prepare young people to understand the whole process of life. The end of education is not merely to pass some examinations and get a job and
earn one's livelihood. If education is to make people understand life, then surely life is not merely a job or an occupation; life is something extraordinarily wide and profound, it
is a great mystery, a vast realm in which we function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole point of life. To understand life
is much more important than to get a degree or pass an examination for a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows and
joys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments and anxieties. The birds, the flowers, the flourishing trees, the heavens, the
stars, the rivers and the fishes therein - all this is life. When we are young we must seek and find out what life is all about. Thus we cultivate intelligence with the help of
education. Intelligence is the capacity to think freely, without fear, without a formula, so that we begin to discover for ourselves what is real and what is true. Anyone who is
gripped with fear will never be intelligent. Most of us have fear in one form or another. Where there is fear there is no intelligence. Thus what education should do is help us
understand the need of freedom. Unless we are free we will not understand the whole process of living. When we are free we have no fear. We do not imitate but we discover.

What is the effect of fear on humans?
Options:

1) We understand life's great mystery.

2) We are not able to develop our intelligence.
3) We think freely.

4) We see the vast expanse of life.
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Correct Answer: We are not able to develop our intelligence.
Candidate Answer: We understand life's great mystery.

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the
button corresponding to it.

The function of education is to prepare young people to understand the whole process of life. The end of education is not merely to pass some examinations and get a job and
earn one's livelihood. If education is to make people understand life, then surely life is not merely a job or an occupation; life is something extraordinarily wide and profound, it
is a great mystery, a vast realm in which we function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole point of life. To understand life
is much more important than to get a degree or pass an examination for a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows and
joys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments and anxieties. The birds, the flowers, the flourishing trees, the heavens, the
stars, the rivers and the fishes therein - all this is life. When we are young we must seek and find out what life is all about. Thus we cultivate intelligence with the help of
education. Intelligence is the capacity to think freely, without fear, without a formula, so that we begin to discover for ourselves what is real and what is true. Anyone who is
gripped with fear will never be intelligent. Most of us have fear in one form or another. Where there is fear there is no intelligence. Thus what education should do is help us
understand the need of freedom. Unless we are free we will not understand the whole process of living. When we are free we have no fear. We do not imitate but we discover.

The aim of education is to make us realise the need of
Options:

1) understanding science

2) freedom

3) jobs

4) passing examinations

Correct Answer: freedom

Candidate Answer: jobs

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the
button corresponding to it.

The function of education is to prepare young people to understand the whole process of life. The end of education is not merely to pass some examinations and get a job and
earn one's livelihood. If education is to make people understand life, then surely life is not merely a job or an occupation; life is something extraordinarily wide and profound, it
is a great mystery, a vast realm in which we function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole point of life. To understand life
is much more important than to get a degree or pass an examination for a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows and
joys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments and anxieties. The birds, the flowers, the flourishing trees, the heavens, the
stars, the rivers and the fishes therein - all this is life. When we are young we must seek and find out what life is all about. Thus we cultivate intelligence with the help of
education. Intelligence is the capacity to think freely, without fear, without a formula, so that we begin to discover for ourselves what is real and what is true. Anyone who is
gripped with fear will never be intelligent. Most of us have fear in one form or another. Where there is fear there is no intelligence. Thus what education should do is help us
understand the need of freedom. Unless we are free we will not understand the whole process of living. When we are free we have no fear. We do not imitate but we discover.

When we are young we should

Options:

1) seek the meaning of life

2) study and get a degree

3) try for a good job

4) study science

Correct Answer: seek the meaning of life
Candidate Answer: seek the meaning of life

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the
button corresponding to it.

The function of education is to prepare young people to understand the whole process of life. The end of education is not merely to pass some examinations and get a job and
earn one's livelihood. If education is to make people understand life, then surely life is not merely a job or an occupation; life is something extraordinarily wide and profound, it
is a great mystery, a vast realm in which we function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole point of life. To understand life
is much more important than to get a degree or pass an examination for a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows and
joys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments and anxieties. The birds, the flowers, the flourishing trees, the heavens, the
stars, the rivers and the fishes therein - all this is life. When we are young we must seek and find out what life is all about. Thus we cultivate intelligence with the help of
education. Intelligence is the capacity to think freely, without fear, without a formula, so that we begin to discover for ourselves what is real and what is true. Anyone who is
gripped with fear will never be intelligent. Most of us have fear in one form or another. Where there is fear there is no intelligence. Thus what education should do is help us
understand the need of freedom. Unless we are free we will not understand the whole process of living. When we are free we have no fear. We do not imitate but we discover.

Education helps us realize the
Options:

1) way to develop our career
2) need for good health

3) meaning of fear

4) necessity of freedom

Correct Answer: necessity of freedom
Candidate Answer: necessity of freedom
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Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the
button corresponding to it.

The function of education is to prepare young people to understand the whole process of life. The end of education is not merely to pass some examinations and get a job and
earn one's livelihood. If education is to make people understand life, then surely life is not merely a job or an occupation; life is something extraordinarily wide and profound, it
is a great mystery, a vast realm in which we function as human beings. If we prepare ourselves only to earn a livelihood, we shall miss the whole point of life. To understand life
is much more important than to get a degree or pass an examination for a job. Life, with all its subtleties, is such a vast expanse. It has its extraordinary beauty, its sorrows and
joys. It also has its hidden things of the mind such as envies, ambitions, passions, fears, fulfilments and anxieties. The birds, the flowers, the flourishing trees, the heavens, the
stars, the rivers and the fishes therein - all this is life. When we are young we must seek and find out what life is all about. Thus we cultivate intelligence with the help of
education. Intelligence is the capacity to think freely, without fear, without a formula, so that we begin to discover for ourselves what is real and what is true. Anyone who is
gripped with fear will never be intelligent. Most of us have fear in one form or another. Where there is fear there is no intelligence. Thus what education should do is help us
understand the need of freedom. Unless we are free we will not understand the whole process of living. When we are free we have no fear. We do not imitate but we discover.

The passage is about
Options:

1) Education

2) Freedom

3) Intelligence

4) Livelihood

Correct Answer: Education
Candidate Answer: Livelihood
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